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@:E3::) (BT : kg )
FRSETEAR ==V H 2 5 1B Z B fm &
HE 238 S ROAH 93.3 665 604
UALhH 106.3 900 619
XAOLA 288.7 325 80
XA LA 127.4 540 89
12HLA 63.8 170 82
JUH LA 653.0 352 23
LEHLA 128.4 296 30
YFHEFELAS LA 402.5 439 50
E=X 1,386.2 390 189
=FHLA 207.4 180 20
< koS A 159.1 289 30
JdEHAN 98.7 56 36
F+77>39 1,321.0 176 26
HFHS 194.0 39 20
2O0F 124.8 180 20
<7Frd 153.0 569 359
== B 730.8 1,006 950
7+457 2,709.3 359 219
aité= 8,947.7




@:E3::) (BT : kg )
FRSETERE mig H = = 1B Z B fm &

BEEXRE 90 [WHLAT 235.4 169 129
XA LA 184.6 700 146
124 69.2 161 50
JUH LA 290.7 389 50
LZHLA 80.2 300 20
AAIH LA 147.2 1,030 579
E=X 743.2 451 269
>0OX/)VUl 152.5 888 459
ESWYXHTZ 53.6 600 290
JdEHAN 201.1 71 31
F+77>39 766.4 193 33
HFHS 215.0 59 20
TRIRD 123.9 600 20

Uil 78 AXF 36.7 411 361

BHTiE 6% Ry FHA 206.2 666 339
OA9IHA 73.5 269

] o >0OX/)VlL 204.7 939 489
XXVl 75.9 579 500

e 16& JUNH LA 35.4 361 61
ESWYAHZ 47.4 600 330

e

3,942.8




( BT : kg )

€30
BEAERA RiEL 5 = fE Z B " =
he 16% EXTYRS 77.5 190 174
At 4,020.3




[i&&) (BT ¢ kg )
JRSETELE =SV N = = 1B =Z 1B B &
K 232 <73 959.7 700 500
EEXRIFE 90 |/=HL o 227.6 200 150
<AL A 189.6 1,000 200
E=5 X 4,397.4 600 300
R 28 AT+ A 10.6 800 200
mUtE 7€ XX+ 23.1 600 300
#D 352 E=5X 1,896.3 600 300
BK S5& 7oE 12.3 13,500 7,000

A
[ =]

T2

7,716.6




